
In Experiment and Uncertainty Estimation

• What’s measured in experiment is
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• The value of  the observable
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track-by-track results

• The uncertainty of  the observable

Not track-by-track results
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• The uncertainty above ignores the 

uncertainty from the track-by-track 

fluctuation in 𝑐2

• Need to be corrected



Weighted Average and Deviation

• Assuming a distribution 𝑓(𝑥), Let the average of  𝑓 𝑥  be 𝜇 and the standard deviation be 𝜎
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• An average estimation
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• An standard deviation estimation
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𝑐2 uncertainty correction
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Toy MC Verification
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